N = 0l & AF & F Al A

SA: SoMOISH
M O Y TO0I0A Y
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SN (B) - MBEAY - B2 0f Ao Soe HRZ2
SOl AOF2 2t 26,633,440 34,135,126 AT7,501,686
= 590,881
iy 7,474,000
= 18,568,559
OF =4 T 0IoAl &Hek 3,927,840 4,520,476 A592,636
= 590,881
== 3,336,959
SO ZAl NF 2,179,323 2,000,510 178,813
SEHEAMg AE X 69,300 67,600 1,700
203 ERF&XH| 11,700 10,000 1,700
03 AIMF=RHFF=ZEH| 11,700 10,000 1,700
OBYBALY U ASEZSE =0 1,700
308 AXIEHXMSOIA 57,600 57,600 0
01 AXSHHIABELTZ 57,600 57,600 0
O SYEHAMLAAY F&A 57,600
TOoMOIE e A& 336,640 346,640 A 10,000
308 AXIESHHSOIN 336,640 346,640 A 10,000
01 XXNHHBIAZXZ 336,640 346,640 A 10,000
Osa0 na 249 134,640
O uA 24 44,000
OE2MOIE /Y s 158,000
MOIE2XE X IEH &st=a A& 310,000 241,500 68,500
308 AHXISHMISOIA 310,000 241,500 68,500
01 AXSHHIABEZ 310,000 241,500 68,500
OMOIE XNEX JEHEs =2 X3 310,000
g ool =& 30,000 47,670 N17,670
307 QI2tolA 30,000 30,000 0
02 QI2HEAMNEX 30,000 30,000 0
OgZlIol At XIAE 29 30,000
MOISEH S4X3 61,500 61,500 0
201 BRI 1,000 1,000 0
03 SHAISHHI 1,000 1,000 0
OANDIEdstns & Z2oHg 8 M 1,000
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S A E2AMOIS
M O B4 T0I0A Y
o9 o A D3 (SHol:®el)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
01 AtR22id] 8,283 8,000 283
OAIZIE X S22 AHA S 8,283
307 QIZ2to| A 1,100,000 974,000 126,000
03 AISIHMEZXZ 1,100,000 974,000 126,000
OMIIHAHEZZX 1,100,000
MOIS22s 2435 =& 3,600 3,600 0
203 HRF=ZXY| 3,600 3,600 0
03 AIMF=RHFF=ZEH| 3,600 3,600 0
OEo MOt RFA 3,600
ANSA 2435 1,384,008 1,500,713 A 116,705
= 284,341
== 1,099,667
Cels CHE23 JHE &2 & & 128, 150 189,480 61,330
201 B9y 5,000 9,480 N4 ,480
01 AtR22t2ld] 5,000 5,000 0
Otz 3=/ s 29 5,000
301 L8 AMZ 3,150 0 3,150
10 SEAIAHIEAZ 3,150 0 3,150
OULUECES HU=2UAF 23 &4 3,150
307 QI2tolA 80,000 140,000 A 60,000
02 QI AE X 30,000 60,000 A 30,000
OUUSCESIE Metsl AHES 0= 30,000
04 BIZ2HSHAIE X 50,000 80,000 A 30,000
OHM3sl TA=ECLEE A 50,000
308 AXIEHXMSOIA 40,000 40,000 0
01 AXNSHHI&AEBELEZ 40,000 40,000 0
OUSIECE3IIE AMglEsE=z s XS 40,000
ANSEA B2 XA 85,846 104,000 AN 18,154
= 66,035
& 19,811
308 AHXIEHHMSOIHA 85,846 104,000 N 18,154
= 66,035
= 19,811
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M@l O B TOIOA B
ol TREAL B (£ &%)
5 o SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
01 KASHMBLRES 85,846 104,000 ~18, 154
OXREESA B0 2HE X2 85,846
2 66,035
= 19,811
XS ARCIHIOE X2 293,252 381,533 188,281
= 218,306
= 74,946
307 QI2H0IF 27,012 34,000 76,988
=2 13,506
= 13,506
02 QIABNEZE 27,012 34,000 6,988
O% NAZABCUIOIE X& 27,012
2 13,506
= 13,506
308 XHXISHASOIH 266,240 347,533 ~81,293
= 204,800
= 61,440
01 KASHBLRES 266,240 347,533 £81,293
ONZ XHEZARCIUIO0IE N 266,240
2 204,800
= 61,440
RASAMES KD 12,360 18,300 A5,940
201 er2o| 9,600 8,000 1,600
02 ZZ=2ZH| 9,600 8,000 1,600
ORAZMBEREIAALY ST 22/ 9,600
01 YurBAZ 2,760 2,300 460
10 SAAHIRAS 2,760 2,300 460
ORI ZARICHS] & A 1,800
ORAZAMBRIX Q&3 EA 960
2 NASNEE X2 222,000 192,000 30,000
308 KHXISHHISOIH 222,000 192,000 30,000
01 XASHMBLRES 222,000 192,000 30,000
ONZTRAZAMNE 2 192,000




2A: TMOtS N
HE: O 24 COI0A B
CHol: TS A B3 (crol: & 2l)
SN HB SR (BIH) - A - B S 0l &b S D=2
- T - = S = &= 0:”/&,% WS
OetHE Zurets| UHASAA 29
60,000,000 *50% 30,000
T NASAHEH 4 600,000 573,000 27,000
306 == 550,000 500,000 50,000
01 &¢3 550,000 500,000 50,000
OEXNEESAME 2 X& 550,000
307 QI2tolH 50,000 73,000 A 23,000
04 BIZtHALE X 50,000 73,000 223,000
OXESAL & XE 23 50,000
ANZ THESAMY =4 42,400 42,400 0
308 NXIHHSOIH 42,400 42,400 0
01 XAXEHHILEXS 42,400 42,400 0
olstd ZESAME 2 16,000
OMEMHN2ESAE 2 26,400
-g3dl X 14,400
-Zdl 7 12,000
N3 QABEH AL A 28 364,509 1,019,253 A654,744
= 306,540
= 57,969
HAgs 9% =4 306,540 926,533 2619,993
= 306,540
101 Q24| 38,940 43,296 A4,356
= 38,940
10 JIZtHZ2Z2NSES 38,940 43,296 24,356
O0HYZ YREFoRY 25,740
= 25,740
SET PN 5,148
= 5,148
OFPNE=) 1,683
= 1,683
OsgI2R=g 3,564
= 3,564
O=¢eldz 1,548
= 1,548
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A E2lMOI2
HH: OF B4 T0IoA BY
o9l DE2 IFBIMYIA P Rk
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
01 XXNHHBIAZXZ 201,600 806,400 A 604,800
OWAHALZILRAIA 201,600
= 201,600
DIRAERIR 2Y 57,969 92,720 N34,751
201 B2 IH| 11,349 24,000 A 12,651
02 =329l 11,349 12,000 AB51
OpIZEAE RETY 11,349
301 LBt A= 46,620 53,720 AT,100
12 JIEIE A2 46,620 53,720 A7,100
SR F NN 2,940
OO0l A2 A AH| E A 40,320
OAl .23 DIJAMNERJ AL I Ba 3,360
NE==Dl L' 22,619,750 29,530,000 6,910,250
g 7,474,000
& 15,145,750
NE:=D L= 22,619,750 29,530,000 6,910,250
g 7,474,000
= 15,145,750
SNBSEINLAIE K& 2,276,000 6,101,000 A 3,825,000
rag 1,874,000
== 402,000
403 XNXESHHSA=20IM 2,276,000 6,101,000 A3,825,000
g 1,874,000
= 402,000
01 XXSHMA=2EX 2,276,000 6,101,000 A3,825,000
OEANSEMHE A 2,276,000
g 1,874,000
= 402,000
L2ESEHAME X 5,000,000 4,125,000 875,000
g 4,000,000
& 1,000,000
403 XNXESHHMSA=20IM 5,000,000 4,125,000 875,000
g 4,000,000
== 1,000,000




2A: TMOtS N
=R HEp
el X (el =
_ _ _ Muo
SN CR(EH) - NRAY - BES 0l & 24 e HRE2
01 XXIESHXH2EEX 5,000,000 4,125,000 875,000
OLESSEAY 5,000,000
s 4,000,000
= 1,000,000
A2 FU=JAMY X 11,533,750 14,836,000 23,302,250
403 XXIEHSA=01H 11,533,750 14,836,000 A3,302,250
01 AXIESHI=2EX 11,533,750 14,836,000 3,302,250
OATRE0I%E A2 (22621)
23,067,500,000& *50% 11,533,750
SHINRIL ALY 2,010,000 2,050,000 240,000
403 NXEMSAH201H 2,010,000 2,050,000 A 40,000
01 XXIESHX2EX 2,010,000 2,050,000 240,000
OZAHIHRI A 2,010,000
JIE2 NYGeSI At XI& 1,800,000 1,400,000 400,000
s 1,600,000
= 200,000
403 XXIEHSA=01H 1,800,000 1,400,000 400,000
s 1,600,000
L= 200,000
01 XXM X=2EX 1,800,000 1,400,000 400,000
OAJIESXNALSI(IIHAE) 1,800,000
Fas 1,600,000
= 200,000
HE2IZH (MOt ) 85,850 84,650 1,200
Jl2&Hl 81,650 81,650 0
JI2Z (=2 MOt22t) 81,650 81,650 0
201 BH2IH] 42,380 42,380 0
01 AtR2cldl 39,900 39,900 0
O MOt R=X 39,900
02 ==29gHl 2,480 2,480 0
OZ23k= ¥ HaHl S 2,480
202 OHl 39,270 39,270 0
01 =2LUAbI 39,270 39,270 0
COMOISERFY 39,270
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